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Heliocentric view of the Universe reintroduced in the mid 1500’s
by Copernicus....explained retrograde motion

retrograde motion

;i

East
.Q'

C

N d
a e

West

J

Fittp://ephemeris.sjaa. net/0TLL/retrograde- motion jpg

Kepler (ca 1600) showed planets had elliptical orbit...the hallmark of Ptolemy’s
calculations for the geocentric hypothesis was wrong

Ellipsz = member of a family of mathemathical curves called conic sectioms
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The Doppler effect and the red shift of light waves are similar phenomenon
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We hear compressed and stretched sound
waves at different pitches.

Light waves
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Knowing that light can selectively be absorbed and emitted, and that motion
influences how light is perceived, American astronomer Edwin Hubble in 1929
showed that absorption lines for photon sources outside our galaxy, at increasing
distances, are consistently shifted towards RED, that is, every photon source
outside our galaxy is moving away from Earth at very high velocity.
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When the H & He fuel is used up, the star enters the SUPERNOVA stage
Supernovae explode and scatter mass into space, forming all of the remaining 92
elements in the process
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